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Mohit.. 21 hours ago

Thank-you Sir for this Very Amazing Class of todays.. .,
And

My Answer for today's Homework is-

OptionC==736..

Read more
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Nitu Maurya 3 hours ago

Hw ans 75.6.
Thanku sir for amazing session .,

5 B Reply

Vishnu Gupta 20 hours ago

75.61s the right ans
Very nice session sir thank you sir @ ,,
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Surbhi Sinha 20 hours 300 _

ﬁ 1 1
Thank you sir & ¢ for this brilliant session <& & & & homework question answer &~ option cccee 75.6

%

&

Ravi Patel 21 hours ago

~—~75.6 L_.E
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Vivek Upadhyay 17 hours ago

72.6
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Zikra Yasmeen 19 hours ago
Option C
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72.6
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SSC CHSL Tier-I :-Pattern

Sections/Subjects Number of Questions Maximum Marks Time Duration

each section

General Awareness 25 50 60 minutes
Reasoning/General 25 50

Intelligence

English Language (Basic 25 50

Knowledge)

Quantitative Aptitude 25 50

(Basic Arithmetic Skill)

Total 100 200
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SSC CHSL Tier 2 Plaper II Exam Pattern

Sections Module Subject No. of Questions Marks Weightage Duration
Mathematical
Module-I 30 90 25%
Abilities
Section I 1 hour
Reasoning and
Module-II . 30 90 25%
General Intelligence
Session —I
English Language
(2 hours & 15 Module-T 3 i 40 120 33.33%
Min) Section 11 Angle pIprenension 1 hour
Module-II General Awareness 20 60 16.66 %
. Computer o .
Section II1 Module-I 15 45 Qualifying 15 minutes
Knowledge Test
) Qualifying 15 minutes
Skill Test For DEOs
Session —II | Section III Module-II
. Qualifying 10 minutes
Typing Test For LDC/JSA
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The average of two numbers 18 96. It 2 is added to the smaller number, the ratio
between the numbers becomes 2 ¢+ 3. The smaller number 1s .

31 GATS| hT 3T 96 =l TS B H’{eeu T 2 SiIg o S, dr §@AT3| sl 3T 2

3 Bl ST 2l BT 9=
\0\70309‘ k a) 116.4
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In an examination, Gopal secured 15% more marks than Asha, and Asha secured 10%

more marks than Sachin. How much per cent more marks did Gopal secure than Sachin?

Teh Y& H, AT F AT & 15% 3ATereh 37k ITH forw, ST 3719 = " & 10% 37fereh 37k
Ty foru) MuTet 3 G 9 foras Tlaera 31feres 37k gme foru?

L}\ A AFANGY gj\c\/\;w?
\\O\x\\S M N
2) 25.5%
b) 26.5%
c) 25%
d) 24.5%
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Pran] al takes twice as much time as Vikram or thrice as much time as Ashwin to
finish a piece of work. Working together, they can finish the work in 6 days.
Vikram can do the work alone in:

STt Teh hrd <Rl G SRt | fersh | T A1 AP | foman e Aeft 21 ueh @rer v
A Y, o 39 H @ﬁw S Tohd | ToshT 3Tehct 39 1Y ol TehdH Ta-T H oL

Tehal 87
Ao \‘ Ve . (—\A\\\aj\
~ L QU .  \we

- A ¢ — c) 15 days
Tw-6X6 Bg\' \%&m d) 12 days

b) 9 days
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If 60% of a number 1s equal to three-fourth of another number, what 1s the ratio
of the first number to the second number?

aAfe Teh HEAT T 60% O TEAT o c-=eTg o S &, ol T8t ST 1 go
T H AU T 27

L ‘ox,{,
O~ ?%/ - 03
=\
Ol ——
\/\0' o b)2:5
C/Elgj\/ c)7:3

d)5:4



was entered incorrectly as 25, then the corrected average is:

I T4 T © Toh 19 |1l oAl S{16d 8.5 Bl Al H&AT 63 o T T Ffearmr 25 for@

= T o, 1 Hente shd €
— == O
Minleke = U 2) 9.5
e
b) 11.5
<’ c) 7.5

d) 10.5
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The volume of a sphere is 38808 cm®. What is its surface area (in cm?)? (Take

T = 22/7)
Tk TMict 3T STRIAH 38808 HHI® © | SHRT ST &lthed (WHI2 W) T &7
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Find the value of (625)"%7x (625)%1¢
(625)*97x (625)*!8 AT HH T ShITSTT

a) 25

b) 625

c) S

d) 125
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Which of the following numbers 1s divisible by 360?
fefetRad & & 9 € 9 360 ¥ forars 82

%60%@%1 )’/

—
.
g
) R

a) 9%@‘7

b) 176600

c) 166200

d) 171080
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A woman can row 36 km downstream 1n 4 hours and 49 km upstream 1n 7 hours.
What 1s the speed of the current?

ek I ST o6 STANETE 4 € H 36 o 31T e o Siduare7 sie | 49 foret Arer
<A Gl 8| ERT ot 11T fehat aidfl 27

a) 2 km/h

b) 1.5 km/h

c) 3 km/h

d) 1 km/h



The marked price of a cell phone 1s Rs. 23,000. The shopkeeper offers

successive discounts of 14% and 16%. How much, approximately, does a

customer have to pay?
Teh Hed I T 3fehd qed 23,000 1 SRR 14% 3T 16% s shiteh P T Ll

2| o UTgeh hl TITHIT &9 ohi T1IT 3hT WA SHEAT B2

%gi— \ = RS- |

, ——  b)Rs. 16,100
| c) Rs. 16,425
d) Rs. 16,585
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The expenses of a family on rice, vegetables and cooking oil are 1n the ratio 9 < 11 ¢

5. If the prices of these items increases by 10%, 20% and 30%, respectively, then

the total expenses of the family on these items will increase by:

AT, HiosT ST GHT ST o df I Teh TR T &= 9 2 11 ¢ 5 o AU | &l Al

5 SEIT o el H SHHRT: 10%, 20% R 30% 61 i Bt &, T 3 TEqAT I TR o6

il o3 H Tora! afe grft:
Ric
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A library has an average of 330 visitors on Sundays and 240 on the other days.

Find the average of the number of visitors per day in a month of 30 days,
beginning with a Saturday.

Ueh TEehTeTd H oo ohl STTHd 330 3T 317 T H 240 A 3ATd 2l AHITR &
ST& L T 30 a1 o Tk A1E H Tid o 31|Jic|oh\i?mpr{i@e4| ST 3T JTd |

Ao SN
TD Ck“’\ \-%*33o~\630

Ny asx&\\o = 6000

C)M'\(@\ * ) ggb a) 260

%*WﬁﬁDY\ 0)270

d) 265
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X +y +z =0, then find the value of
’ 2
y

ZZ
!

yz_Zx Zz—xy

- - - Q)
LA a) 2
(D) 2
b) 1
78 S
Ly,
= \7> c)3

d) 0
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The value of sin 35° cos 55° + cos 35° sin 55° 1s:

sin 35° cos 55° + cos 35° sin 55° HTHM 2
6“\9 (r® —t @ P Sn B = S\t\CP\*B)

S\l 2SS $S>
i Ao =\

a) 0
, b) 3/4
o
/ =) \}‘ > C) 1/2
Vo=

D
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Three smaller cubes with sides of 3, 4 and 5 cm are melted together to form a

large cube. What 1s the ratio of the smaller cubes' total surface area to the larger

cube's total surface area?

3, 4 3R 5 GHT oAl YSTIAT AT o1 BIE BT 3hT Teh A1 TUEATRL Teh SIST & ST
STTT 21 BIE T 9 el TSI &t 1 9IS H o el YBII &l § STUTd T 22

a) 16 : 21
S b)5:4
( &= \
o=/ /~
\ Y c)25: 18

d)3:5









